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1. 2%

1.1
BT, FL I 0 A0 2 G K

ARAFTR

Pentium 1G CPU Btk
%/ 1G § RAM

Z/b 2G R4 2 (A
USB 2.0/3.0 #1

A RERSE ISR AN T R AE R G

W) Windows AL &AM AR A, 1E#AT Windows 53T

Microsoft Windows XP
Microsoft Windows Vista
Microsoft Windows 7
Microsoft Windows 8
Microsoft Windows 10

1.2 RERME

1.
2. e SR (W R 2 B R 5 30,1 Wi CD-ROM H 3k B Setup.exe)

¥ CD-ROM 4 A\ Hifi.
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2. B
HEA TP

BAFR S

ST E L ->DMM, & S 2F.

File 1 |
- % O > |
Hold Back Light Select Manual Range  Auto Renge Mex/Min  Fxit Mex/Min Rel D Value 0 Value C Valus(ExitDQR) 3 |

| x =
AUTO RANGE 6
100.00
i
0. 000
v 4
50.00
40.00
5
NO. Time Function Range Value Unit *
20,00
1 10:05:07 DV 6 0.000 v
2 10:05:08 Dcv 6 0.000 Ay 0.oo
3 10:05:08 DV 6 0.000 v
= -20.00
4 10:05:09 3
el L |
-40.00
6 10:05:10
7 10:0510 plat 6 0.000 v [ -80.00
8 10:05:11 DV 6 0.000 v
-80.00
9 100511 pev 5 0.000 v
10 | 10:05:12 DoV 6 0.000 v il
K L | i 008 07 10:05:08 10:05:09 10:05: 10 10:05:11 10:05:12
N e A \ 2
F R I S ] DUAS % A D R

THAX

i3 TR AT DL ()45 - A T g

i A X 5

Kk R BIR

iz/jﬂziﬂj

TR AR E RS

03K X I

DA% BT 2 SR FEEAIRGS

O W|IN|EF

PR X sk

DA 2R B 2D SR FEE AR ES

3/6




3. EHKMA

mid o HEEPC ANBE 2% (U Se i A e & B LA D RE L TIT).

3.1 Main menu area

1 | File -> Option i B A
2 | File -> Connect I R 5 2% 1 i
3 | File -> Exit B H A
3.2 TEEKXH
1 - Connect/Disconnect device.
2 o~y Setting the software.
4 Exit the software.
a

3.2.1 WEHKMH

Sample points Foooo =

Sample rate 200ms= =

Skip repeat reading I:l

Ok ] [ T ]

1 | Sample Points

KA OB, S X AMER A& RAF

Sample Rate P E S
3 | Skip repeat Reading | &5 Bkid &2 RFHE

3.3 EIRXBE
SR Y B SRR AR A

oc

—00. 12 .
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3. 4B FHHE X I

X d @
NO. Time Function Range Value Unit =
2471 11:32:15 -00.12 mY
ETECE T
2473 11:32:15 -00.12 mY
2474 11:32:15 DC 200 -00.12 mY
2475 11:32:15 DC 200 -00.12 mY
2476 11:32:16 DC 200 -00.12 mY
2477 11:32:16 DC 200 -00.12 W
2478  11:32:16 DC 200 -00.12 W
2479 11:32:16 DC 200 -00.12 m\
2480 11:32:16 DC 200 -00.12 m\ gl
3.41 TE#
1 x gk E
2 o TRAFEE
3 & T En il
3.5 BR X5
X =

27,00

24,00

21,004

15,004

15004

12004

9004

6.004]

3,004

0. 004-LAd s

T
11:25:46 11:25:15

T t
11:26:36 11:27:57

t t
11:29:18 11:30:39
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3.5.1 THF

1 HEEE
X

2 RAF B2 A

i

3.5.2 WK/4E/MNESR
TR FAk SBR[ AT TR 7 ., 76 438 O R B b A e A
K =

27.00

24.00

21.00

18.00

15.00

1z2.00

0.004lhls
11:23: 46 11:25:15 11:26:36 11:27:57 11:23:16 11:30:39

P A5 AE AR 2 B, e A2 O 43l (E-E A BB RO R o B, an 1
X =

27.00

24.00

21.00

18.00

15.00

1z2.00

0.004lhls
11:23: 46 11:25:15 11:26:36 11:27:57 11:23:16 11:30:39
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